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 Target Net income  الربح المستهدف

CM Technique  

As in the case of break –even sales, the sales required to meet a target net 

income can be computed in either dollars or units.                                  

The formula using the CM ratio for Video Vargo is as follows:                 

 الاال   صاابفً لتحقٍاا  الوطلْثااخ الوجٍعاابد حساابة ٌوكااي ، التعااب   ًقطااخ هجٍعاابد حبلااخ فااً كوااب

 .الْحلاد أّ ثبللّلار الوستِلف

  :ٌلً كوب ًُ Video Vargo لـ CM ًسجخ تستخلم التً الصٍغخ

 

 

 

 

 

 

 

 

 

 

 

 

 CMبطريقة 

 Required Sales Units = 

 المطلوبة المبيعات

(Fixed Costs + Target Net Income) 

 صبفً الل   الوستِلف + التكبلٍف الثبثتخ

Contribution Margin Ratio (CM%)  

 المساهمة هامش نسبة

320,000 

= 

200,000 + 120,000 

40% 40% 

= 

= 800,000 
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CVP and Changes in the Business Environment 

CVP الأعمبل بيئة في والتغيرات 
-Business conditions change rapidly and management must 

respond intelligently to these changes.  

 التغٍٍزاد لِذٍ ثذكبء الإ ارح تستجٍت أى ٌّجت ثسزعخ العو  ظزّف تتغٍز -

-CVP analysis can be used in responding to change. 

 . للتغٍٍز الاستجبثخ فً CVP تحلٍ  استخلام ٌوكي -

-The original VCR sales and cost data for Vargo Video Company 

are shown below. 

 Vargo Video Company لشزكخ التكلفخ ّثٍبًبد الأصلٍخ VCR هجٍعبد -

 .أ ًبٍ هْظحخ

$500 Unit selling price 

$300 Unit variable costs 

$200,000 Total monthly fixed costs 

$500,000 or 

1000 units .  

Break –even sales 

 

CVP and Changes in the Business Environment: Case I 

A competitor is offering a% 10 % discount on the selling price of 

its VCRS. Management must deaide whether or not to offer a similar 

discount.  

Question: What effect will al•% discount on selling price have on 

the break- even point for VCRS? 

 علاى ٌجات. ثاَ الخاب  VCRS جِابس ثٍا  سعز على٪ 11 ثٌسجخ  صوًب الوٌبفسٍي أحل ٌعزض

 .لا أم هوبث   صن تقلٌن ثشأى قزار اتخبذ علم الإ ارح

  ؟VCRS لـ التعب   ًقطخ على الجٍ  سعز على الخصن٪ 10 لـ سٍكْى الذي التأثٍز ُْ هب: سؤا 
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  ؟ هب ُْ اثز تخفٍط سعز الجٍ  على ًقطخ التعب  

Answer: A 10% discount on selling price reduces the selling price 

per unit to $450 [$500- ($500x10%)]. Variable cost per unit remains 

unchanged at $300. Therefore, the contribution margin per unit is $150. 

Assuming no change in fixed costs, break-even sales are 1,333 units, 

calculated as follows:                                                                               

 -  ّلارًا 511]  ّلارًا 451 إلى للْحلح الجٍ  سعز هي ٌقل  الجٍ  سعز على٪ 11  صن: الإجبثخ

 فاائى ، لااذل .  ّلار 311 عٌاال تغٍٍااز  ّى للْحاالح الوتغٍاازح التكلفااخ تظاا ([. ثبلوئااخ 11×  511)

 فئى ، الثبثتخ التكبلٍف فً تغٍٍز ّجْ  علم ثبفتزاض.  ّلارًا 151 ُْ ّحلح لك  الوسبُوخ ُبهش

  :التبلً الٌحْ على هحسْثخ ، ّحلح 1،333 ًُ التعب   هجٍعبد

 

 

 

CVP and Changes in the Business Environment: Case II 

Management invests in new robotic equipment that will 

significantly lower the amount of direct labor required to make the 

VCRS. It is estimated that total fixed costs will increase 30% and that 

variable cost per unit will decrease 30%.                                                   

 الوجبشزح العوبلخ حجن هي كجٍز ثشك  تقل  أى شأًِب هي جلٌلح رّثْتٍخ هعلاد فً الإ ارح تستثوز

٪ 31 ثٌسااجخ ساٍزتف  الثبثتاخ التكابلٍف إجوابلً أى إلاى التقالٌزاد تشاٍز. VCRS لصاٌ  الوطلْثاخ

 ٪.31 ثٌسجخ ستٌخفط ّحلح لك  الوتغٍزح التكلفخ ّأى

 

= 

200,000 

150,000 
1333 units = 
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Question: What effect will the new equipment have on the sales 

volume required to break even?                                                                

        التعب  ؟ لتحقٍ  الوطلْة الوجٍعبد حجن على الجلٌلح الوعلاد تأثٍز ُْ هب: سؤا 

                                                      

Answer: Total fixed costs become $260,000 

[$200,000+($200,000x 30%) and variable cost per unit is now $210 

($300,000x30%). The new break-even point about 900 units, calculated 

as follows: 

+  أهزٌكً  ّلار 211,111) أهزٌكً  ّلار 261.111 الثبثتخ التكبلٍف إجوبلً أصجح: الإجبثخ

 أهزٌكً  ّلار 211 اَى ًُ ّحلح لك  الوتغٍزح ّالتكلفخ٪( 31×  أهزٌكً  ّلار 211,111)

 هحسْثخ ، ّحلح 011 حْالً الجلٌلح التعب   ًقطخ تجلغ٪(. 31×  أهزٌكً  ّلار 311,111)

  :التبلً الٌحْ على

 

 

 

= 

260,000 

500-210 

900 units = 


